o ™A 2x o] 27127

@® 45° @ 50° @55° @ 60° ® 65°

~&B

DE T2t o] 92te] T 360° oln2
£x+5°42x=30°+ £x+80°+ {180° — (—£x + 150°) } = 360°
olt.

wkehA] zx = 55° o]k,




the 2R Zo] dreke 2 9] 10 7He EA7F Ak o]
TA] Afojoe M AL S BHE T o] 9-61A] ¢FS EA] Alolof g
LS e T ek A L A0 SE o7, FE A9 S5

bt & o, a+ b 2] ZEE?

iy ofd e

@ 10 @ 35 @45 @ 50 ® 55

HAw o] A4t A7) ¥e] & FErAel et
@] jzha o] Aot ek,
a=10

Ol

b=10x =35

Sa+b=10+35=45

(10 -3)
2




3.

o2 1ol A LABC 9] o] 52417 LACE 9 o] 57419 WA
D2t & o, zx: 2y E F5HH?

filo
o

@ 1:1 @ 1:2 @2:1 @ 2:3 ® 3:2

/x+ (B =2(y+ (DBC) {Itl] /B =2/DBC °|E& /x = 27y
oJr.
w2bA szx: Ly =24y Ly =2:1 ©]t}




th& 1) AC//DE ©]1, AB = AC = CD ©]t}. /ABC = q 2}
& o, /CED € a 2 Bt=A] Yebd 227

E

@® éa @ %a @a @ 24 ® 3a

AABC £ ol sHdZgolEz

/ABC = /ACB =a

3 9J7ke] 271k o] okA] g F Y7t
LCAD = 2a

E, AACD = ol 5HHdZAgolER
/CAD = /CDA = 2a

AC//DE 0|22

(FDE = /DAC = 2a (597

& 9l zke] 271 o] 95kA) g I Zke] 2] 0] @t go B

1o
W
N
o
ek
i)
M
|o
|3
tu

ABDE ] A
a+ /CED = /FDE
a+ (CED = 2a

. L/CED =a




5. o 2" x 8 2715 F6HH?

o

D 270° @ 275° @280° @ 285° ® 290°

SZ4go o FL2 1200 o]BZ 4x = T20° -
(130° 4 110° + 80° + 15° 4 105°) = 280°




o 2ol A zx+ 2y 9] B2

©70° @ 715° ® 80° @ 90° ® 95°

~&B

(ADC = 20° + 55° = 75°

(ABC = 75° 4+ /x = 105°

Lx = 30°

(KIL = 30° + 65° = 95°

/KLI = 25° + 20° = 45°

AKLI 9] Al YZzte] 37]9] gH2 180° o]|E 2
Ly = 180° — (95° + 45°) = 40°

wh2bA zx + £y = 70° ©]tt.




7. A=80° B=110°<4 9, /C+ /D + (E + /F 9] 27]1&?

@® 150° @)170° ® 210° @ 270° ® 350°

(EGF = /AGC = /D + (E + (F °]1!

LA+ /B+ /C+ (AGC = 360° o]B2

80° + 110° + £C + /D + (E + /F = 360° ©]t}.
. /C+ /D + /E + /F = 170° o|t},




8. O I™NM sa+ tb+ Lo+ td+ Le+ Lf O] 2T

@® 100° @ 120° @ 240° @360° ® 480°

B

e 2ol A
la+ tb=/x, Lc+ Ld =Ly
Lla+ b+ Lo+ Ld+ Le+ Lf = Lx+ Lyl + Le+ Lf = 360°




dzel 2719 &

5

® 81°

@ 279°

1 360° =10 = 36°

135°

180° x (8 — 2)
8

fzke] 27] -

. 36° 4 135° = 171°




180°X (n —2)

360°




